EARAROBEEIERT — 2 N— IBISH —F

20145128280 (H) SHEFR#8H

Gl Y >%3mtE 5007 TF

(5] T8

‘ (%] 8 ‘ [EmmEl  — | 4 () 14000 &

[~E4] 1% :7,500,000 @ ~ 23 :3,000,000MH ~ 3i&:

1,900,000 .~ 4 & :1,100,000 M

/53 750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NEE T o4 | REAS 1:25.2 8-7 36.6| 95.2 | 1 488 | BESFF (ER)
11713 = xR =Ty T A53.0 (=) (+g) |HEAOEZ
Z:yvo7x B:IVEYVICX IJERILIRZI A B
i M o4 | BAR 1:25.5 1-9  |36.6|925 | 2 | 504 |EAE (RR)
2 7| FVvsOy 57.0 (1 3/4) © | .0 #-23
L:T7TxZXexAL B:F—-ZXIYLK B85
K S . 4 3 | HIELF 1:25.5 8-8 36.9| 92.4 | 5 438 | BAEE (RR)
3 5| T RLAT w1 56.0 (NF) () | AL
L:ANZZATNY B:vakTI> I BHH S
i =y o o6 | EXH :25.5 1413 [36.4| 92.5 | 9 | 490 |ALHAA (FF)
4\8l16| I—NT>TEY Y 57.0 Uen ve) | )t
L:22-Y>70-X B:OAYILT LYY BINRT 7 — L
s # 3 | G F/7 1:25.5 5-4 37.2] 923 | 3 53 | &IFEA (ER)
5(5/9|71TYA2A 5.0 (1) o) | LEBBE
A4 TAT v — BixU>T1X4% PRte]
O, oSS 4t 4 | BEMZ 1:25.5 2-2 37.5| 92.0 | 11 462 | BERE (BR)
61714 7B>27Z71 b 57.0 (72) (+0) | SEEHE
LY RKYTYRXIR B:H—%y hRE— HET77— L
R . N E AT 125, = . . Fify (FER)
1 . BPELER R E # 3 | AR i e R
YLK YIYRIR B:vavFivU—L e
_ . — RFRZ 125. - . . EHRZEE (FR)
N . BRI R S
LTAITLFNRTF— B:FAIL/ X% T4 ILBEEEXS
. = N /IMB 105, - . . EESE (ER)
9 4| @Y1 XYL B4 N 1725@9 10-9 37.1| 8.7 | 7 (4;0) v
RFFHRFFLT BYILN—FyILX HET7— L
P o5 o6 | ERIEX 1:26.0 1-1 38.1| 86.8 | 4 506 | MAEEIR (5ER)
0011|7171 57.0 (3/4) 10) | ETEAK=LF 1> TZ ()
R:F4—TA>N7 b BAARE—FFry b J—HrTr—LA
. 2 # 3 | FEEZ 1:26.6 11-9 37.6|8.3| 8 480 | FREE (ER)
1118]15| ®EX/NFIF 56.0 (31/2) (+5) | AAUHER)
LT ReA¥TvN> B:T5TVFU— Bk
R # 5 | AEEN 1:26.8 5-4 38.5| 79.8 | 13 | 476 |fEEEEEME (=)
1ofg 1| 77~ FL—%— §7.0 (1"1/8) (va) | HEIE—
R:T7TFEX BiA—PvRU—L EEYS
AP o4 | ESEE 1:26.9 16-15 | 37.5| 79.5 | 15 | 450 |#BAR (5ER)
13 3 7 U JAaJyvr 0 (1/2) (+12) xSl
RTIRRFVEN BahITU—> GAVELRT7— L
S, J= 4 4 | BEREX 1:27.4 3-6 39.2| 75.2 | 14 | 480 |BEHEEM (W)
14112 h/I53—L .0 (3) (-14) AT
LTINTFNZL2 BFA)—FI1-2X HaR B
= o4 | BEE 1:28.3 5-9 39.8| 68.4 | 16 | 458 |IFEE (RR)
15510 @X 171~ 6.0 (5) o) | BB
LHALY RF = Bival— KL g B
=5,= S i 4 | BRR 1:29.3 11-15 [ 40.2| 60.9 | 10 | 462 |=HER (RE)
160012 7 7T 14— R A52.0 (6) (-1g) | TR
:Curlin B:¥ v 1= IE— HET7—L
@ 71 L
) 49.6-37.3
NA> &AL | 12.4-11.1-12.1-12.3-12.2-12.0-13.1
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x1,14) (2,8) (10,9,11)-(5,13)4(7,12,15)16,6,3
40—F— (¥1,14)8(9,11)2,13,5(10,4,7,15) (16,6)-(3,12)
[ N3
H OB 13 190M4 714K 7-13 210 e E 4-7 360M JEHE 5-7-13 1,230
8 B 13 110 =18 420M B = 7-13 450 B 13-7-5 3,290
7 140/ 5-7 640 B H 13-7 640
5 220M

ABICOVWTRDTEEERROODE. TR LIV,




